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 3 Code No. :C-387/2017/Series-A 

QUESTION BOOKLET  
 

This question paper contains 170 questions. / 170  
All questions are compulsory.  
One question carries half mark only.  

Maximum Marks : 85   85 
Time : 2 Hours    2  
 

 

1. The magnitude of permittivity (e0) and permeability (0) of free space are 
given respectively by 

 (A) 8.854  10–12 F/m and 4 107 H/m 

 (B) 8.854  10–12 F/m and 4 10–7 H/m 

 (C) 8.854  1012 F/m and 4 107 H/m 

 (D) 8.854  1012 F/m and 4 10–7 H/m 

  (e0)  (0)  

 (A) 8.854  10–12 F/m  4 107 H/m 

 (B) 8.854  10–12 F/m  4 10–7 H/m 

 (C) 8.854  1012 F/m  4 107 H/m 

 (D) 8.854  1012 F/m  4 10–7 H/m 
 

2. According to Joule’s law of electrical heating 
 (A) H = IR2t / 4.18 Calories (B) H = I2R2t / 4.18 Calories 
 (C) H = I2Rt2 / 4.18 Calories (D) H = I2Rt / 4.18 Calories 
  

 (A) H = IR2t / 4.18  (B) H = I2R2t / 4.18  

 (C) H = I2Rt2 / 4.18  (D) H = I2Rt / 4.18  
 

3. If Eth = 9 V and Rth = 9 , then according to Thevenin theorem, the current 

through the load resistance RL = 3  is 

  Eth = 9 V  Rth = 9   RL = 3  

 (A) 0.75 A (B) 0.65 A (C) 0.85 A (D) 0.70 A 
4. How many cells, each having an emf of 1.5 V and internal resistance of 0.25 

ohm, would be required (connected in series) to pass a current of 1.5 A 
through a resistance of 15 ohm ? 

  1.5 V emf  0.25           
1.5 A  15  ? 

 (A) 25 (B) 20 (C) 18 (D) 22 
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5. A long straight circular copper conductor carries a current of 400 A. The 
magnetic field strength at a distance of 10 cm from the conductor is 

  400 A 10 cm 
 

 (A) 436.62 AT/m   (B) 536.62 AT/m 
 (C) 576.62 AT/m   (D) 636.62 AT/m 
 

6. The RMS value of current is given by 
 (A) That steady current which when flows through a resistor of known 

resistance for a given time produces the same amount of heat as 
produced by the alternating current when flows through the same resistor 
for the same time. 

 (B) That steady current which when flows through a resistor of known 
resistance for a given time produces the same amount of charge as 
produced by the alternating current when flows through the same resistor 
for the same time. 

 (C) The steady current which when flows through a resistor of known 
resistance for a given time produces the same amount of power as 
produced by the alternating current when flows through the same resistor 
for the same time. 

 (D) The steady current which when flows through a resistor of known 
resistance for a given time produces the same amount of light as 
produced by the alternating current when flows through the same resistor 
for the same time. 

 RMS  

 (A) 

 

 (B) 

 

 (C) 

 

 (D) 
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7. Disadvantages of low power factor in ac circuits are 

 (A) Smaller conductor size, poor efficiency, larger voltage drop and large 
kVA rating of equipment. 

 (B) Greater conductor size, poor efficiency, smaller voltage drop and large 
kVA rating of equipment. 

 (C) Greater conductor size, poor efficiency, larger voltage drop and large 
kVA rating of equipment. 

 (D) Greater conductor size, poor efficiency, larger voltage drop and small 
kVA rating of equipment. 

 ac  

 (A) kVA  

 (B) kVA  

 (C)  kVA  

 (D) kVA  
 

8. A series resonant circuit has a Q-factor of 150; an inductance of 0.1 H and a 
capacitance of 0.1 F. The resonance frequency is given by 

  Q-  150  0.1 H  0.1 F
 

 (A) 106/2Hz (B) 104/2Hz (C) 103/2Hz (D) 102/2Hz 
 

9. If the conductance of an electrical circuit is 0.122 mho and the susceptance 
is –0.0529 mho. Then impedance of the circuit is 

  0.122 –0.0529 
 

 (A) 7.52  (B) 7.12  (C) 7.82  (D) 7.32  
 

10. Current in three line conductors of an unbalanced load is IR = (9.2 – j6.9)A, 
IY = (9.035 – j21.15)A, IB = (– 5 + j8.66)A, then neutral current is 

  IR = (9.2 – j6.9)A, IY = (9.035 – 
j21.15)A, IB = (– 5 + j8.66)A,  

 (A) 21.464 A (B) 25.372 A (C) 19.278 A (D) 23.476 A 
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11. Daily average load on the power station is given by 

 (A) Daily average load = No. of units (kWh) generated in a day/24 hours 

 (B) Daily average load = No. of units (kW) generated in a day/24 hours 

 (C) Daily average load = No. of units (kWh) generated in a day/12 hours 

 (D) Daily average load = No. of units (kW) generated in a day/12 hours 

  

 (A)  =  /24  (kWh) 

 (B)  =  (kW) 

 (C)  =  (kWh) 

 (D)  =  (kW) 
 

12. Which of the following is not true with respect to SF6CB ? 

 (A) Non-Puffer type SF6CB (B) Puffer type SF6CB 

 (C) Self-blast type SF6CB (D) External blast type SF6CB 

 SF6CB  

 (A)  SF6CB  (B)  SF6CB 

 (C)  SF6CB (D)  SF6CB 
 

13. Prime mover failure of an alternator connected to a grid can be detected by 
using _____ relay. 

 (A) Forward power  (B) Reverse power 

 (C) Reverse current  (D) Reverse voltage 

 _____ 
 

 (A)  (B)  (C)  (D)  
 

14. The air between the two oppositely charged clouds is always under 
electrostatic 

 (A) Attraction (B) Repulsion (C) Stress (D) None of these 

  

 (A)  (B)  (C)  (D)  
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15. To damp vibrations in overhead lines, the following measures are taken : 
 (i) A light anchor clamp of low inertia is used. 
 (ii) Reinforcement or armour rods are used. 
 (iii) Dampers are used to absorb the vibrations.  
 Which of the above are true ?    
 (A) (i), (ii) and (iii)  (B) (i) and (ii) only 
 (C) (i) and (iii) only  (D) (ii) and (iii) only 
  : 
 (i)  
 (ii)  
 (iii) 

 ?    
 (A) (i), (ii)  (iii)  (B) (i)  (ii) 
 (C) (i)  (iii)  (D) (ii)  (iii) 
 

16. In a 3-phase overhead transmission line, the sending end voltage Vs(phase) 
is 14456.18 V and receiving end voltage VR(phase) is 12702 V. The % age 
voltage regulation of the transmission line 

  Vs  14456.18 V 
 VR  12702 V  

 (A) 11.81% (B) 12.81% (C) 13.81% (D) 14.81% 
 

17. Corona loss is less when the shape of the conductors is 
 (A) Circular   (B) Flat 
 (C) Oval   (D) Independent of shape 
  
 (A)    (B)  
 (C)    (D)  
 

18. The tolerance value of step voltage is given by the equation 
  
 (A) ESTEP = (RB + RF)IB volts (B) ESTEP = (RB + RF)IF volts 
 (C) ESTEP = (RB + 2RF)IF volts (D) ESTEP = (RB + 2RF)IB volts 
 

19. The yearly consumption of an undertaking is 25  106 kWh, with the 
maximum demand of 1600 kW. The annual cost of energy (in Rupees) if 
energy is charged at ` 70.0 per kW maximum demand plus 2 paise per kWh.  

  25  106 kWh  1600 kW
 ` 70.0  kW  + 2  kWh

 : 
 (A) ` 5,12,000 (B) ` 12,50,000 (C) ` 6,12,000 (D) ` 1,12,000 
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20. The resistance of a copper conductor having length of 2 km and a cross-
section of 32 mm2 and resistivity of 18  10–9-m.  

  2 km  32 mm2 
18  10–9 m  

 (A) 1.125  (B) 1.625  (C) 1.725  (D) 1.425  
 

21. The material having zero temperature coefficient of resistance is 
 (A) Steel (B) Silver (C) Manganin (D) Aluminium 
  
 (A)  (B)  (C)  (D)  
 

22. Dielectric strength of air, nitrogen and hydrogen respectively is  
 (A) 1.00, 1.01 and 0.01  (B) 1.01, 1.00 and 0.01 
 (C) 0.01, 1.00 and 1.01  (D) 0.01, 1.01 and 1.00 
  
 (A) 1.00, 1.01  0.01  (B) 1.01, 1.00  0.01 
 (C) 0.01, 1.00  1.01  (D) 0.01, 1.01  1.00 
 

23. Which of the following material is not ferromagnetic ? 
 (A) Nickel (B) Cobalt (C) Germanium (D) Silver 
  ? 
 (A)  (B)  (C)  (D)  
24. Which of these correctly refers to PLC and computers ? 
 (A) Unlike computes, PLC are designed for industrial environments and can 

withstand vibrations shock, low temperature and electrical noise. 
 (B) Unlike computes, PLC are designed for industrial environments and can 

withstand vibrations shock, high temperature and electrical noise. 
 (C) Unlike computes, PLC are designed for domestic environments and can 

withstand vibrations shock, high temperature and electrical noise. 
 (D) None of these. 
  PLC  ? 
 (A)  PLC 

 
 (B)  PLC 

 
 (C)  PLC 

 
 (D)  
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25. The various input devices of a PLC are 
 (A) Push button, limit switches, selector switches, proximity switches and 

timer contacts etc. 
 (B) Push button, limit switches, solenoid valve, control relay and timer 

contacts etc. 
 (C) Push button, limit switches, solenoid valve, horn and timer contacts etc. 
 (D) All of the above. 
  PLC  
 (A)  
 (B)  
 (C)  
 (D)  
 

26. In a 3-phase, 4 wire system, generally the area of cross-section of neutral 
wire 

 (A) same as that of phase wire (B) same as that of earth wire 
 (C) half of the phase wire (D) one third of the phase wire 
  4  
 (A)  (B)  
 (C)  (D)  
 

27. If a sinusoidal wave has a frequency of 50 Hz with 15 A rms value, which 
of the following equation represents this wave ? 

  50 Hz rms  15 A 
 

 (A) 15 sin 50 t   (B) 30 sin 25 t 
 (C) 42.42 sin 100 t  (D) 21.21 sin 314 t 
 

28. For earthing of electric motors upto 10 HP, the size of copper and GI earth 
electrode are 

 (A) 60 cm  60 cm  3.18 mm and 90 cm  90 cm  6.35 mm respectively 
 (B) 60 cm  60 cm  3.18 mm and 60 cm  60 cm  6.35 mm respectively 
 (C) 90 cm  90 cm  6.35 mm and 90 cm  90 cm  6.35 mm respectively 
 (D) 90 cm  90 cm  6.35 mm and 60 cm  60 cm  3.18 mm respectively 
 10 HP  GI  

 (A) 60 cm  60 cm  3.18 mm  90 cm  90 cm  6.35 mm  

 (B) 60 cm  60 cm  3.18 mm  60 cm  60 cm  6.35 mm  

 (C) 90 cm  90 cm  6.35 mm  90 cm  90 cm  6.35 mm  

 (D) 90 cm  90 cm  6.35 mm  60 cm  60 cm  3.18 mm  
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29. The forward voltage _____ at which the current through the diode or PN 
junction starts rising abruptly, is known as knee voltage. 

 (A) 0.3 V for Ge and 0.7 V for Si diodes 
 (B) 0.7 V for Ge and 0.3 V for Si diodes 
 (C) 0.5 V for Ge and 0.9 V for Si diodes 
 (D) 0.9 V for Ge and 0.5 V for Si diodes 
  _____  PN 

 
 (A) Ge 0.3 V  Si 0.7 V 
 (B) Ge 0.7 V  Si 0.3 V 
 (C) Ge 0.5 V  Si 0.9 V 
 (D) Ge 0.9 V  Si 0.5 V 
 

30. In a common base transistor circuit, collector current is 0.96 mA and the 
base current 40 A. The value of  is 

  0.96 mA  40 A   
 

 (A) 0.56 (B) 0.76 (C) 0.46 (D) 0.96 
 

31. The relationship between  and  is given by 
     
 (A)  = 1/ – 1 (B)  = 1/ 1 –  (C)  =  – 1 (D)  = 1 –  
 

32. In a center tap full wave rectifier, if Vm is the peak voltage between the 
center tap and one end of the secondary, the maximum voltage coming 
across the reverse biased diode is 

  Vm 
 

 (A) Vm (B) 2Vm (C) 1/2Vm (D) Vm /2 
 

33. An electric lamp of 60 W will consume 1.8 units of energy in 
 (A) 30 hours (B) 3 hours (C) 10.8 hours (D) 6 hours 
  60 W  1.8  
 (A) 30  (B) 3  (C) 10.8  (D) 6  
 

34. A forward voltage can be applied to an SCR after its 
 (A) Anode current reduces to zero (B) Gate recovery time 
 (C) Reverse recovery time (D) Anode voltage reduces to zero 
 SCR  
 (A)  (B)  
 (C)  (D)  
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35. The ripple factor of half wave, center-tap full wave and bridge type full 
wave rectifier are 

 (A) 1.21, 0.482 and 0.241 respectively. 
 (B) 1.21, 0.241 and 0.482 respectively. 
 (C) 1.21, 0.482 and 0.482 respectively. 
 (D) 1.21, 0.241 and 0.241 respectively. 
  
 (A) 1.21, 0.482  0.241 (B) 1.21, 0.241 0.482  
 (C) 1.21, 0.482 0.482  (D) 1.21, 0.241 0.241  
 

36. In 8085 microprocessor, how many interrupts are maskable ? 
 (A) Two (B) Three (C) Four (D) Five 
 8085  
 (A)  (B)  (C)  (D)  
 

37. The power failure alarm must be connected to which of the following inputs 
of 8085 ? 

 8085 ? 
 (A) RST 7.5 (B) TRAP (C) INTR (D) HOLD 
 

38. Without a DC source a clipper circuit acts like a 
 (A) Clamper (B) Chopper (C) Rectifier (D) Demodulator 
  DC  
 (A)    (B) 
 (C)   (D)  
39. The emitter resistor Re is by-pass by a capacitor in order to 
 (A) Stabilize the Q-point (B) Cause thermal run away 
 (C) Increase voltage gain (D) Reduce the voltage gain 
  Re  
 (A) Q-  (B)  
 (C)  (D)  
 

40. An R-C phase shift oscillator will not produce any oscillations until and 
unless the voltage gain of its internal amplifier is 

 (A) Unity   (B) Less than unity 
 (C) About 3   (D) More than 29 
  R-C 

 
 (A)    (B)  
 (C)    (D)  
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41. Which one of the following causes phase shift through an op-amp ? 
 (A) Internal RC circuit 
 (B) External RC circuit 
 (C) Gain roll off of the internal transistor 
 (D) Negative feedback 
  op-amp  ? 
 (A)  RC   (B)  RC  
 (C)  (D)  
 

42. The decimal equivalent of the Hexadecimal number (BAD)16 is 

 (BAD)16   

 (A) 111013 (B) 5929 (C) 3416 (D) 2989 
 

43. The NAND-NAND realization is equal to 
 (A) AND-NOT realization (B) AND-OR realization 
 (C) OR-AND realization (D) NOT-OR realization 
 NAND-NAND  
 (A) AND-NOT  (B) AND-OR  
 (C) OR-AND  (D) NOT-OR  
 

44. Which of the following flip-flop is used as a latch ? 
 (A) J-K flip-flop   (B) R-S flip-flop 
 (C) T flip-flop   (D) D flip-flop 
  ? 
 (A) J-K    (B) R-S  
 (C) T    (D) D  
 

45. The race-around condition occurs when 
  
 (A) J=0, K=0 (B) J=0, K=1 (C) J=1, K=0 (D) J=1, K=1 
 

46. In a 3-phase full converter, the six SCR are fired at an interval of 
  6 SCR  

 (A) 30 (B) 60 (C) 90 (D) 120 
 

47. A chopper whose voltage as well as current remains negative is known as 
 (A) Type A (B) Type D (C) Type B (D) Type C 
  
 (A)  A (B)  D (C)  B (D)  C 
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48. The snubber circuit is used in thyristor circuits for  
 (A) Triggering   (B) dv/dt protection 
 (C) di/dt protection  (D) phase shift 
  
 (A)    (B) dv/dt  
 (C) di/dt   (D)  
 

49. The advantage of using a freewheeling diode with bridge type ac/dc 
converter is 

 (A) Regenerative braking (B) Reliable speed control 
 (C) Improved power factor (D) Reduced cost of the system 
  ac/dc  
 (A)  (B)  
 (C)  (D)  
 

50. UJT is known as 
 (A) Voltage controlled device (B) Current controlled device 
 (C) Relaxation oscillator (D) None of the above 
 UJT  
 (A)  (B)  
 (C)   (D)  
 

51. In a BJT 
  BJT  
 (A)  = /1 –  (B)  = /+1 (C)  = /– 1 (D)  = + 1/ 
 

52. What is simplified form of the Boolean expression T = (X+ Y) (X+
–
Y) (

–
X + Y) ? 

  T = (X+ Y) (X+
–
Y)(

–
X + Y)  

 (A) XY (B) 
–
XY (C) 

–
X

–
Y (D) X

–
Y 

 

53. A 0 – 300 V voltmeter has an error of  2% of full scale deflection. What 
would be the range of reading, if true voltage is 30 V ? 

  0-300 V   2%  30 V 
 

 (A) 24 V – 36 V (B) 29 V – 31 V (C) 20 V – 40 V (D) 20 V – 30 V 
 

54. Frequency can be measured by using 
 (A) Maxwell’s Bridge  (B) Schering Bridge 
 (C) Wein’s Bridge  (D) Campbell Bridge 
  
 (A) (B)  (C) (D)  
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55. In Boolean Algebra F = (A + B) (Ā + C), then F = ? 
  F = (A + B) (Ā + C)  F = ? 

 (A) F = AB + ĀC   (B) F = AB + 
––

AB 
 (C) F = AC + ĀB   (D) F = AA + ĀB 
 

56. A 0 – 100 V voltmeter has a guaranteed accuracy of 1% at full scale 
reading. What will be the error if it reads 50 V ? 

  0 – 100 V  1% 
 50 V  ? 

 (A) 1% (B) 2% (C) 0.5% (D) 4% 
 

57. The body reflecting entire radiations incidenting on it is called the  
 (A) White body (B) Gray body (C) Black body (D) Transparent body 
  
 (A)  (B)  (C)  (D)  
 

58. In _______ welding it is essential that the surface to be welded are clean, 
dust and dirt free. 

 (A) Butt welding   (B) Spot welding 
 (C) Seam welding  (D) Both spot and seam welding 
 _______ 

 
 (A)    (B)  
 (C)   (D)  
 

59. The illumination at a surface due to a source of light placed at a distance ‘d’ 
from the surface varies as  

 ‘d’ 
 

 (A) 1/d2 (B) 1/d (C) d2 (D) d 
 

60. A zero watt lamp consumes power of 
 (A) Zero watt (B) 5-10 watt (C) About 15 watt(D) About 25 watt 
  
 (A)  (B) 5-10  (C)  15  (D)  25  
 

61. A 4-pole generator with 16 coils has two layer lap winding. The pole pitch 
is 

  4-  16  
 (A) 32 (B) 16 (C) 8 (D) 4 
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62. The current drawn by a 120 V dc motor of armature resistance 0.4 ohms and 
back emf 110 V  

  0.4  110 V  120 V dc  
  

 (A) 4 A (B) 25 A (C) 275 A (D) 300 A 
 

63. A DC shunt motor is operating at no load. If the armature is shunted by a 
resistance, its speed will 

 (A) Increase   (B) Decrease 
 (C) Remains same  (D) Be unpredictable 
  DC 

 
 (A)    (B)  
 (C)   (D)  
 

64. A DOL starter is employed for starting motors of ratings upto 
   DOL  
 (A) 3.75 kW (B) 7.5 kW (C) 15 kW (D) 25 kW 
 

65. For a 3-phase, 4-pole, 50 Hz synchronous motor the frequency, pole number 
and the load torque are all halved. The motor speed will be 

  3- , 4- , 50 Hz 
 

 (A) 375 rpm (B) 1500 rpm (C) 75 rpm (D) 3000 rpm 
 

66. The efficiency of a properly designed synchronous machine is of the order 
of 

  
 (A) 60% (B) 80% (C) 92% (D) 99% 
 

67. A 3-phase star-connected induction motor is connected to 400 V, 50 Hz ac 
supply. If the stator to rotor turn ratio is 2, the standstill rotor induced emf 
per phase is  

  400 V, 50 Hz ac 
 2  

 (A) 115.5 V (B) 231 V (C) 346.5 V (D) 200 V 
 

68. A 3-phase, 480 V, 60 Hz induction motor is to be operated at 50 Hz supply. 
The most satisfactory supply voltage for the machine would be 

  480 V, 60 Hz 50 Hz 
 

 (A) 480 V (B) 400 V (C) 600 V (D) 440 V 
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69. The power factor of an induction motor operating at no load will be 
  
 (A) 0.9 lag/  (B) 0.2 lead/  (C) 0.2 lag/  (D) 0.9 lead/  
 

70. A three phase, 6-pole, 50 Hz induction motor is running at 5% slip. What is 
the speed of the motor ? 

  6- , 50 Hz  5%  ? 
 (A) 950 rpm (B) 850 rpm (C) 1000 rpm (D) 900 rpm 
 

71. Himalayan Institute of Engineering and Technology is located in which 
district of Himachal Pradesh ? 

 (A) Shimla (B) Sirmaur (C) Mandi (D) Solan 
 

 ? 
 (A)  (B)  (C)  (D)  
 

72. Which among the following districts of Himachal Pradesh has lowest 
population density ? 

 (A) Kinnaur (B) Chamba (C) Lahaul-Spiti (D) Kullu 
  ? 
 (A)  (B)  (C)  (D)  
 

73. On which date the H.P. Panchayati Raj Act, 1994 came into force ? 
 (A) 25th January (B) 15th April (C) 5th June (D) 23rd April 
  1994  ? 
 (A) 25  (B) 15  (C) 5  (D) 23  
 

74. Find the correct match : 
  District  Pass 
 (A) Mandi  – Shipki La 
 (B) Lahaul-Spiti  – Baralacha 
 (C) Chamba  – Rohtang 
 (D) Kullu  – Sach 
  
     
 (A)  –  
 (B)  –  
 (C)  –  
 (D)  –  
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75. The name of the new Chief Minister of Uttarakhand is  

 (A) Trivendra Singh Rawat (B) Amrinder Singh 

 (C) N. Biren Singh  (D) Manohar Parikar 

  

 (A)  (B)  (C)  (D)  
 

76. The International Yoga Festival on 8th March, 2017 was inaugurated by the 
Central Information and Boardcasting Minister at which of the following 
places ?  

 (A) Ahmedabad (B) New Delhi (C) Amritsar (D) Mumbai 
 

  
 (A)  (B)  (C)  (D)  
 

77. Who is the Defence Minister of India ?  

 (A) Nitin Gadkari  (B) Rajnath Singh  

 (C) Arun Jetli   (D) Mukhtar Abbas Naqvi  

  

 (A)   (B)  

 (C)    (D)  
 

78. Who is the newly elected Indian Ambassador in International Trade 
Organisation ?  

 (A) Arun Kumar Singh  (B) Nirupama Rao  

 (C) J.S. Deepak   (D) Saiyyed Akbaruddin  

  

 (A)    (B)  

 (C)    (D)  
 

79. ‘My Story’ is an Autobiography of which cricket player ? 

 (A) Bret Lee   (B) Michel Clark  

 (C) Criss Adams   (D) Gautam Gambhir  

 ‘My Story’ (Autobiography)  

 (A)  (B)  (C) (D)  
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80. Match the following : 
List-I List-II 

(Janapadas) (Present Day District) 
(a) Kuluta 1. Sirmaur 
(b) Trigarta 2. Chamba 
(c) Gobdika 3. Kangra 
(d) Kulind 4. Kullu 

  a b c d 
 (A) 4 1 3 2 
 (B) 4 3 2 1 
 (C) 4 2 3 1 
 (D) 4 1 2 3 
  : 

-I -II 
  

(a)  1.  
(b)  2.  
(c)  3.  
(d)  4.  

  a b c d 
 (A) 4 1 3 2 
 (B) 4 3 2 1 
 (C) 4 2 3 1 
 (D) 4 1 2 3 
 

81. ‘Banbhatta’ was the court poet of which emperor ? 
 (A) Ashoka   (B) Kanishka 
 (C) Harshavardhan  (D) Kumargupta 
 ‘ ’  ? 
 (A)  (B)  (C) (D)  
 

82. Malik Kafur was a trusted General of 
 (A) Alauddin Khilji  (B) Feroz Shah Tughlaq 
 (C) Iltutmish   (D) Mohammad bin Tughlaq 
  
 (A)   (B)  
 (C)    (D)  
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83. When did the first Indian National Congress meet in Bombay ? 
  ? 
 (A) 1875 (B) 1885 (C) 1905 (D) 1893 
 

84. Forest Research Institute is located at 
 (A) Hyderabad (B) Dehradun (C) Bengaluru (D) Pune 
  
 (A)  (B)  (C)  (D)  
 

85. The largest wheat producing state of India is 
 (A) Punjab (B) Haryana (C) Uttar Pradesh (D) Maharashtra 
  
 (A)  (B)  (C)  (D)  
 

86. The Siachen Glacier is located in 
 (A) Arunachal Pradesh  (B) Himachal Pradesh 
 (C) Sikkim   (D) Kashmir 
  
 (A)  (B)  
 (C)    (D)  
 

87. Halley’s comet has a period of 
 (A) 54 years (B) 76 years (C) 67 years (D) 45 years 
  
 (A) 54  (B) 76  (C) 67  (D) 45  
88. The science which deals with the study of insects is known as 
 (A) Mycology (B) Phycology (C) Entomology (D) Pathology 
  
 (A)  (B)  (C)  (D)  
 

89. Pain relieving drugs are known as 
 (A) Antibiotics   (B) Anaesthetic 
 (C) Sulpha compound  (D) Analgesics 
  
 (A)    (B)  
 (C)   (D)  
 

90. Hydrogen bomb is based on 
 (A) Nuclear fission  (B) Nuclear fusion 
 (C) Chemical reaction  (D) None of these 
  
 (A)   (B)  
 (C)   (D)  
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91. NITI Aayog is 

 (A) Statutory Body  (B) Constitutional Body 

 (C) Created by an executive order (D) None of these 

 (NITI)  

 (A)   (B)  

 (C)  (D)  
 

92. Finance Commission is constituted under which Article of Constitution of 
India ? 

  ? 

 (A) 280 (B) 324 (C) 325 (D) 343 
 

93. In a code ‘INFORM’ is denoted by ‘JMGNSL’, then ‘PLAYER’ is denoted 
in the same code by 

  ‘INFORM’  ‘JMGNSL’  
‘PLAYER’  

 (A) OKBZFQ (B) QKBXFQ (C) OKBXFQ (D) OMBZFQ 
 

94. Ramesh moves 5 km in East direction. Then he turns to his right and then he 
moves 8 km. After this he turns to his left and moves 5 km. Then he turns to 
his left and moves 8 km. Now how far is he from his starting point ? 

 (A) 10 km (B) 13 km (C) 5 km (D) 16 km 

 

 

 (A) 10  (B) 13  (C) 5  (D) 16 
 

95. He emphasized _______ his point. 

 (A) on   (B) at 

 (C) over   (D) No preposition is needed. 
 

96. Synonym of the word ‘Fascinate’ is 

 (A) charm (B) encourage (C) employ (D) exchange 
 

97. Antonym of the word ‘Feeble’ is 

 (A) weak (B) robust (C) meek (D) emanciated 
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98. ‘   ’     
 (A)      (B)     
 (C)       (D)     
 

99. ‘-  ’       
 (A)  (B)  (C)  (D)  
 

100.    
 (A)  (B)  (C)  (D)  
 

101. Which one of the following is used as a passive component in electronic 
circuits ? 

 (A) Resistor    (B) Transistor 
  (C) Vacuum triode   (D) Tunned diode 
                ? 
 (A)    (B)  
  (C)     (D)   
 

102. An example of a solid state device is a  
 (A) Thyratron  (B) Pentode  (C) Field effect trasistor  (D) Triode 
         
 (A)    (B)   
 (C)     (D)  
 

103. An Ideal voltage source is one which has 
 (A) Very high internal resistance  (B) Zero internal resistance 
  (C) Very low internal resistance  (D) Infinite internal resistance 
      ,  
 (A)          (B)       
  (C)          (D)       
 

104. When forward bias is applied to a junction diode, it 
 (A) Increases the potential barrier   
 (B) Decreases the potential barrier 
  (C) Reduces the majority carrier current to zero   
 (D) Reduces the minority carrier current to zero 
             ,   
 (A)      
 (B)      
  (C)          
 (D)          
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105. Compared to a CB amplifier, the CE amplifier has 
 (A) Lower input resistance  (B) Higher output resistance 
  (C) Lower current amplification  (D) Higher current amplification 
  CB     CE      
 (A)     (B)    
  (C)     (D)    
 

106. An amplifier circuit of voltage gain 100, gives 2 V output. The value of input 
voltage will be 

 100       2 V            
 (A) 200 V  (B) 20 mV  (C) 50 V  (D) 2 mV 
 

107. An amplifier of pass band 450 kHz to 460 kHz will be named as 
 (A) Wide band amplifier  (B) Audio frequency amplifier 
  (C) Tunned voltage amplifier  (D) Video amplifier 
 450 kHz  460 kHz           
 (A)      (B)    
  (C)     (D)   
 

108. The voltage gain of an amplifier is 100. On applying negative feedback with  
 = 0.03, its gain will reduce to 

 (A) 70  (B) 99.97  (C) 25  (D) 3 
      100    = 0.03        

     
 (A) 70   (B) 99.97   (C) 25   (D) 3  
 

109. For generating a 1 kHz note, the most suitable circuit is 
 (A) Hartley Oscillator   (B) Colpitts Oscillator 
  (C) Tunned Collector Oscillator  (D) Wein Bridge Oscillator 
 1 kHz     ,      
 (A)      (B)   
  (C)     (D)    
 

110. The purpose of the SYNC control in a CRO is to 
 (A) Focus the spot on the screen 
  (B) Set the intensity of the spot on the screen  
 (C) Lock the display of signal  
 (D) Adjust the amplitude of the display 
  CRO  SYNC      
 (A)         (B)           
 (C)         (D)        
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111. The binary equivalent of decimal number 0.0625 is 
   0.0625      
 (A) 1001110001    (B) 0.1001110001  
 (C) 0.0110001110   (D) 0.0001 
 

112. The binary equivalent of hexadecimal number A0B5 is 
    A0B5      
 (A) 0101110100001010  (B) 0101111101001010 
  (C) 1010000010110101  (D) 1011000011000101 
 

113. The parity of the binary number 11001110 
 (A) is even    (B) is not known  
 (C) is odd    (D) is same as the number of zeros 
   11001110   
 (A)       (B)    
 (C)       (D)        
 

114. Data can be changed from special code to temporal code by using 
 (A) Shift Registers   (B) Counters   
 (C) Combinational Circuits  (D) A/D converters 
                
 (A)     (B)  
 (C)     (D) A/D  
 

115. A monostable multivibrator circuit can be made using 
 (A) Logic gates    (B) OP AMPs   
 (C) 555 timer    (D) Any of the above 
             
 (A)       (B) OP AMPs   
 (C) 555    (D)      
 

116. In a P based system, the stack is always in 
  P   ,       
 (A) P  (B) RAM  (C) ROM  (D) EPROM 
 

117. The number of flags in 8085 P is 
 8085 P        ? 
 (A) 2  (B) 3  (C) 5  (D) 6 
 

118. For a 12 bit A/D converter the range of input signal is 0 to + 10 V. The 
voltage corresponding to 1LSB will be  

  12  A/D        0  + 10 V   1 LSB   
    

 (A) 0  (B) 0.0012V  (C) 0.0024V  (D) 0.833V 
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119. The minimum number of pins required in an IC with two 4-input gates is 
  4-    IC         
 (A) 12  (B) 14  (C) 16  (D) 18 
 

120. Which of the following gates cannot be used as an inverter ? 
                ? 
 (A) NAND  (B) AND  (C) NOR  (D) EX-NOR 
 

121. A 100 W, 250 V bulb is put in series with a 40 W, 250 V bulb across 500 V 
supply. The current drawn will be  

 500 V      100 W, 250 V      40 W, 250 V    
         

 (A) 0.2286 A  (B) 0.3 A  (C) 0.4 A  (D) 0.5 A 
 

122. Norton’s equivalent is 
 (A) Parallel ckt.    (B) Series ckt.  
 (C) Series-parallel ckt.  (D) None of the above 
      
 (A)     (B)   
 (C) -   (D)     
 

123. A 12 V Lead Acid Battery used in a car contains 
 (A) 10 cells connected in series  (B) 10 cells connected in parallel 
  (C) 6 cells connected in parallel  (D) 6 cells connected in series 
     12 V        
 (A)    10   (B)    10  
  (C)    6   (D)    6  
 

124. What will be the magnetic field of 4000 AT/m ? 
 4000 AT/m      ? 
 (A) 4000AT  (B) 16AT  (C) 4AT  (D) 1000AT 
 

125. The self-induced emf in a 0.2 H coil when a current in it is changing at the 
rate of 100 A/sec is 

  0.2 H    emf  ,    100 A/sec    
    ? 

 (A) 20 V  (B) 200 V  (C) 2  10–3 V  (D) 2  10–2 V 
 

126. Two waves have the frequency of 600 Hz and one is set at its maximum value 
whereas the other at zero. The phase angle between them will be 

 (A) 0    (B) 90  
 (C) 90  600/50 degrees  (D) 90  50/600 degrees 
     600 Hz ,             

          ? 
 (A) 0    (B) 90  
 (C) 90  600/50    (D) 90  50/600  
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127. The power factor at resonance in R-L-C series circuit is 
 (A) zero  (B) unity  (C) 0.5 lagging  (D) 0.5 leading 
 R-L-C          
 (A)  (B)  (C) 0.5  (D) 0.5  
 

128. In a balanced three phase star connected system, the phase difference between 
phase voltage and their respective line voltages are 

       ,        
      

 (A) 30  (B) 120  (C) 60  (D) 45 
 

129. The number of parallel paths in the armature winding of a four pole, wave 
connected d.c. machine having 22 coil sides is 

           ,  22     d.c. 
       ,   

 (A) 4  (B) 2  (C) 22  (D) 1 
 

130. A 100 kVA, 1100/400 V, 50 Hz single phase transformer has 100 turns on the 
secondary winding. The number of turns on its primary winding will be 

  100 kVA, 1100/400 V, 50 Hz        100  
           

 (A) 550  (B) 275  (C) 2750  (D) 5500 
 

131. Maximum efficiency of a transformer occurs when 
 (A) hysteresis loss and eddy current loss are minimum. 
  (B) the sum of hysteresis loss and eddy current loss is equal to copper loss in 

the winding. 
  (C) power factor of load is leading. 
  (D) hysteresis loss is equal to eddy current loss. 
        ,  
 (A)          
  (B)                 
  (C)        
  (D)          
 

132. A 400 V, 50 Hz three phase Induction motor rotates at 1440 rpm on full load. 
The motor is wound for 

 (A) 2 poles  (B) 4 poles  (C) 6 poles  (D) 8 poles 
  400 V, 50 Hz       1440 rpm         
 (A) 2    (B) 4    (C) 6    (D) 8    
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133. A 5 HP, 3 phase, 400 V star connected squirrel cage induction motor meant to 
drive a milling machine, at starting takes about 

  5 HP, , 400 V -      ()   
           

 (A) 40 A  (B) 100 A  (C) 150 A  (D) 200 A 
 

134. The torque power factor of an induction motor will be high when 
 (A) Running at no load  (B) Running at full load 
  (C) Rotor is blocked   (D) The rotor is crawling 
         ,  
 (A)       (B)      
  (C)       (D)     
 

135. Synchronous motors are to be used in situations where 
 (A) The load is constant   
 (B) Load is required to be driven at very high speed  
 (C) Load is to be driven at constant speed 
  (D) None of the above 
        ,  
 (A)     
 (B)           
 (C)         
  (D)     
 

136. Pitch factor for 5/6 short pitch coil is 
 5/6          
 (A) 0.966  (B) 0.833  (C) 1.0  (D) 3.454 
 

137. In alternators damper windings are used to 
 (A) reduce eddy current loss   
 (B) prevent hunting 
  (C) make the rotor dynamically balanced  
 (D) reduce armature reaction 
         
 (A)      
 (B)      
  (C)        
 (D)     
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138. The direction of rotation of an ordinary shaded pole single phase induction 
motor 

 (A) Can be reversed by reversing the supply terminal connections to the 
stator winding. 

  (B) Cannot be reversed. 
  (C) Can be reversed by open-circuiting the shading rings. 
  (D) Can be reversed by short-circuiting the shading rings. 
             
 (A)     ,           
  (B)       
  (C)    -        
  (D)    -        
 

139. Selection of motor for any applications depends upon which factors ? 
 (A) Mechanical Characteristics  (B) Electrical Characteristics 
  (C) Cost    (D) All of the above 
               ? 
 (A)     (B)   
  (C)     (D)   
 

140. Candela is the unit of 
 (A) Luminous intensity (B) Luminous Flux 
  (C) Wavelength    (D) Frequency 
     ? 
 (A)   (B)   (C)   (D)  
 

141. Resistance welding cannot be used for 
 (A) Non-ferrous metals  (B) Ferrous metals   
 (C) Steel    (D) Dielectric 
         
 (A)      (B)     
 (C)      (D)    
 

142. In the process of refining of metals, the impure metal is made as 
 (A) Cathode  (B) Anode  (C) Electrolyte  (D) None of these 
     ,    ()    
 (A)       (B)     
 (C)      (D)     
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143. Which of the following motor is used in household refrigerators ? 
 (A) AC series motor   (B) DC Shunt Motor 
  (C) Reluctance Motor   (D) Single phase induction motor 
        
 (A) AC      (B) DC   
  (C)     (D)     
 

144. The type of d.c. motor used in electric traction is 
 (A) Shunt    (B) Separately Excited   
 (C) Series    (D) None of these 
     d.c.      
 (A)    (B)     
 (C)     (D)     
 

145. Chemical effect is utilized in ______ meters. 
 (A) Ampere hour    (B) Voltmeter 
  (C) Ammeter    (D) None of these 
         
 (A) -     (B)   
  (C)      (D)     
 

146. The gravity controlled instrument must be used in ______ position. 
 (A) Horizontal  (B) Vertical  (C) Diagonally  (D) None of these 
             
 (A)  (B)  (C)  (D)     
 

147. A dynamometer wattmeter can’t read _____ power. 
 (A) AC  (B) DC  (C) AC/DC  (D) None of these 
        
 (A) AC   (B) DC   (C) AC/DC   (D)     
 

148. The resistance of an earthing electrode should be 
 (A) High  (B) Low  (C) Medium  (D) None of these 
        
 (A)  (B)  (C)  (D)     
 

149. The most suitable material for piezoelectric transducer is 
 (A) Quartz  (B) Mica  (C) Copper  (D) None of these 
 - ()         
 (A)  (B)  (C)  (D)     
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150. Capacitive microphone converts sound into 
 (A) Electrical Output   (B) Chemical Output 
  (C) Mechanical Output  (D) None of these 
         
 (A)   (B)   (C)   (D)     
 

151. Which Union Minister has launched “Harit Diwali, Swasth Diwali” campaign 
to celebrate pollution free Diwali ? 

 (A) Arun Jaitley    (B) Narendra Modi  
 (C) Rajnath Singh   (D) Harsh Vardhan 
           ‘ ,  ’  

   ? 

 (A)    (B)   (C)   (D)  
 

152. BSNL has launched its “BSNL Wallet” in partnership with which digital 
payment company ? 

 (A) Jio Money  (B) PhonePe  (C) MobiKwik  (D) Paytm 
         BSNL   “BSNL ”    

 ? 
 (A)   (B) -  (C) - (D) - 
 

153. Which country has been declared the world’s most liveable city by the 
Economist’s Global Liveability Report-2017 ? 

 (A) Melbourne  (B) Sydney  (C) London  (D) Perth 
    -2017          

     ? 
 (A)   (B)  (C)  (D)  
 

154. India’s first museum on the Partition of the Indian Sub-Continent will open in 
which state ? 

 (A) Uttar Pradesh   (B) Odisha  
 (C) Punjab    (D) Assam 
  -            ? 
 (A)   (B)  (C)  (D)  
 

155. Which State Government has launched “Indira Canteen” for urban poor ? 
 (A) Karnataka    (B) Himachal Pradesh  
 (C) Puducherry    (D) Punjab 
         ‘ ’    ? 
 (A)  (B)   (C)  (D)  
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156. Who has authored the book “The Adivasi Will Not Dance” ? 
 (A) Hansda S. Shekhar  (B) Abhilash Pudukad 
  (C) Amit Shankar   (D) Chetan Bhagat 
 ‘    ’     
 (A)  .    (B)   
  (C)      (D)   
 

157. India’s first ever Railways Disaster Management Centre will come up in 
which city ? 

 (A) Kolkata  (B) Bengaluru  (C) Lucknow  (D) Pune 
     ‘   ’          ? 
 (A)   (B)  (C)  (D)  
 

158. India’s first-ever aviation university will come up in which state ? 
 (A) Uttar Pradesh   (B) Assam   
 (C) Maharashtra    (D) Tamil Nadu 
                ? 
 (A)   (B)  (C)  (D)  
 

159. Yisrael Kristal, the world’s oldest man passed away. He hailed from which 
country ? 

 (A) Israel  (B) Japan  (C) France  (D) Germany 
              ,      ? 
 (A)  (B)  (C)  (D)  
 

160. The place ‘Tandi’ is located in which district of H.P. ? 
 (A) Kullu  (B) Lahaul-Spiti  (C) Kinnaur  (D) Chamba 
  ‘’         ? 
 (A)  (B) - (C)  (D)  
 

161. ‘Pauri’ festival is held at 
 (A) Gemur    (B) Koksar  
 (C) Triloknath temple   (D) Tandi 
 ‘’      
 (A)   (B)   (C)   (D)  
 

162. “Wild Flower Hall” was the residence of 
 (A) Lord Elgin    (B) Lord Kitchner   
 (C) Lord Ripon    (D) Lord Kennedy 
 ‘  ’    ? 
 (A)   (B)   (C)    (D)   
 

https://snowstudy.in



 31 Code No. :C-387/2017/Series-A 

163. Which town is situated on the bank of the river Ravi ? 
 (A) Una  (B) Keylong  (C) Kunihar  (D) Chamba 
           ? 
 (A)  (B)  (C)  (D)  
 

164. Where was the capital of Maharaja Sansar Chand ? 
 (A) Sarkaghat  (B) Sujanpur  (C) Hamirpur  (D) Trilokpur 
       ? 
 (A)  (B)  (C)  (D)  
 

165. The book ‘Bilaspur Ki Kahani’ was written by 
 (A) Akshar Singh   (B) Hardyal Singh 
  (C) V.C. Ohiri    (D) Kishori Lal Vaidya 
  ‘  ’    
 (A)   (B)   (C) ..  (D)    
 

166. The Sun Temple is at 
 (A) Dalhousie (B) Keylong  (C) Jogindernagar  (D) Nirath 
      
 (A)  (B)  (C)  (D)  
 

167. Renuka is associated with 
 (A) Rewalsar  (B) Sansar Chand (C) Parsurama  (D) None of these 
     
 (A)  (B)  (C)  (D)     
 

168. Wazir Ram Singh belonged to the princely state 
 (A) Bhajji  (B) Kullu  (C) Nurpur  (D) Rampur Bushahr 
         ? 
 (A)  (B)  (C)  (D)   
 

169. The fair of Baba Badbhag Singh is held in the district of 
 (A) Bilaspur  (B) Kinnaur  (C) Kangra  (D) Una 
          ? 
 (A)  (B)  (C)  (D)  
 

170. The place of 84 temples is 
 (A) Bharmaur  (B) Sundernagar  (C) Barsar  (D) Arki 
       
 (A)  (B)  (C)   (D)  
 

___________ 
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